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ch of the following situations can be explained by Newton's third law?

TEJWI 5900 09Il plusiwls W (Sas AW SV o0 (S

© .When a man fires a gun, the gun recoils

coalsl Wip el OB ediwe (e Aol =) (3l bedic

.When the force acting on an object is doubled its acceleration is doubled }

waclan doylld UL.B e o L3 5_,3_9;.1\ 55.5." waclail ladic

Two objects of different masses released from the same height at the same time
.hit the ground at the same moment

Aball i (§ 2! JI OMasg CBG puis (§ LD e (po dalizee iS5 Olawasr Jaitow

.A feather falling in a straight line with a constant speed

a’bu :U'-_;s.uj P._éilm)lum:l &.‘L_.’IJ Lad us
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When an object of mass 18 Kg is acted upon by a certain force, it moves with an
acceleration of (6.4¢ + 1.5V) m/s%.
What is the magnitude of the net force acting on the object?
(6.47 + 1.57) M/s? Galud Aomay )iy 4518 (dipno B9y 18 Kg 4iliS puun e W oy Loie
Tl 10 (Je 83 5a)l A1 42)) Hluds L

b

N 52.5 $
£ i

N 218.2 :
d

N 77.6 :
f

What force is responsible for holding the Moon in orbit around the earth?

T2 Jo> o)l (§ yed)l sl e A g§unal! )l Lo

i o Gravitational force
Audladl 598

Tension force

Al g3

Contact force

oed) B g8 )

Drag Force 7‘

Aiuxall il ‘

E mail: info@ampss.ae  www.shk.ampss.ae  Tel: 025858621/ 025858760 i il eIy Sal 8301 Apaslat Ao A yall A3y
sl iy g el gl y il by S a3l pcisnall 8 <130 Giny g ) 883 5al) (panimy skt gansa'pe 1) e ptall il

A

g mall




[

S

; asolil - aolall 6jlicdl Gwjaro —

dagpoallgasle’illa i

DEPARTMENT OF EDUCATION

=, -
ﬁ:;:’-:“j AL-MANARA PRIVATE SCHOOL - SHAMKHA AND KNOWLEDGE

Which of the following pairs of graphs shows the (displacement -time) and the
(velocity-time) for an object speeding up from rest?

31555 e (apll-dgaiall de pudl) s (a3ll-d> Y1) g AW ALl cMtaill (o de gazma (S

Displacement Velocity
t t
> »>
o | o
B g -
Displacement WVelocity :
»! »!
o] i :
Displacement Velocity
V ] / .
o ol g
d 5
Displacement Velocity 3
a A :
:
i
t
» »
0 )
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If you drop a ball from a 50 m-tall building, how far is the ball from the ground
after 2 s? (g =-9.8 m/s?)

m 40.3

m 19.6

Which of the following is not true regarding the Earth gravitational force?

a2y A3l 93 8 Lviomo yud (o oa (S

& .Its magnitude equals the gravitational mass i
LAadl=) M@jw &yylddae '
.b
.Its magnitude equals to the force that acts on an object due to gravitational interaction with the earth
UbJS“ dudl> ] Alelad ddi sz L3 Sﬁé.n.” 5_9_5.]! Sl Wylude
.C
It is measured by Newtons E
T |
.d,g;
It always points towards the center of the earth ‘
2! 3550 9205 Ladls dxts :
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The position of an object is given by the equation x = 3.0 t’+ 1.5t + 4.5, where x is
in meter and t is in second. What is the instantaneous acceleration of the object
att=3.0s?

Lo dl_g.ﬂb ol AaJL Al elds Euse ox = 3.0 t24 1.5 t + 4.5 dslasll > 63_9.-: ANES)

Tt = 3.0 s dic euuzl] o)l g Ll

1 1.
] m/s® 6.0 ;
b
m/s2 8.0
.C
m/s? 12
dj
m/s’ 4.5 =

TS e 0 Jlain 3550878 6 3 63139 9 U s 25yl = A ) i sy

Car’s Velocity vs. Time
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A particle moves along the x-axis with a nonconstant acceleration described by
a = 12t, where a is in m/s2.
If the particle starts from rest so and x = 0 when t = 0, where is it located when t = 2 57

.m/S2 5..\:.'-_9.:1 &)L...JJ'I UAG:\LLP,E =12% m.)lx.njb‘_}ingg_‘;u\j_,tn &)L.u:u L}BN]JW‘L}‘W“‘JJ’QQ
Tt=25 e dadgo O9Suw ol ¢t = 0 e X = 0 a390)) (p09 09Kl (o Euauaedl 55 13

Xx=16m )
b o
X=12m
v X =24 m c
s
X=32m )
The figure shows the motion of a projectile object with an initial velocity (%)
,when ignoring air resistance. What angle (&) should an object be thrown at to
ensure that its maximum height (H) and horizontal range (R) are both equal?
S(H) &) Joms i )1 il e (R) Y1 olte (5 slui] pnsal)
y (m)
=
3 = B
3 :
o) - :
T - i
= 4
. :
) i

| 1

Range (R) Y sl
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A river flows from west to east with constant velocity of 1.0 m/s and a boat leaves | -
south bank heading towards north with velocity of 2.40 m/s, what is the boat’s }
velocity relative to the river?

daall (o pgdl (§ B i iy ¢1.0 m/s Galud Al dgain Ao i) iyl o 48 Sy
yeil) Al Lylall dc o e €2.40 m/s (S9lud dganin dc g ddladdl dayall 9o ganie Angicn)

........................................................................................................................................

.d
(/) m/s 2.6
.b
m/s 2.8
.C
m/s 6.8
.d)
m/s 1.5
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On an airless planet, a ball is thrown downward from a height of 17 m with initial
velocity of 15 m/s. If the ball hits the surface in 1 s, what is this planet’s
gravitational acceleration?

131 .15 m/s $9lud &30 S 17 m §La5)) (w0 JouSl 8y O3 ¢elgd 4y dzgn Y LSS e
TSI 1ig) dudlal Alxe Hluie Lo cBl>lg Al day LSS da 8,801 Caoilasol

E i .a
) m/s% 4.0
.b
m/s22.0
G
m/sZ 32
d )
m/s’ 64

Which one of the following is not a fundamental force?

, S Friction force
SN 553

.b
Electromagnetic force
Andoliiia g 58| Bgall

i
Gravitational force
do3ld! 593
4
d \
Weak nuclear force ’

Haaiall g5l 520

E mail: inffo@ampss.ae  www.shk.ampss.ae Tel: 025858621 / 025858760 <la yaall s ¢la¥l g HSall 83231 ) Apaalad duwnspe ;A el 43
ujn_,ﬂw_,cyﬂbub\«.dbu)&d\dlu)&dhﬂé&d\ M‘&AS‘J"‘J‘U&JCM‘ aJ}Q\MJ_,LMGum_,Ag\J\ MJAAS\‘UMJ

A

g mall



e

iy ; a:'l.nLﬁdl—&.nlilléjl.i.nllﬁaulm 018 /ﬁ ddgpeallgasleila i
4 e = - DEPARTMENT OF EDUCATION
——— & AL-MANARA PRIVATE SCHOOL - SHAMKHA )\—J/- AND KNOWLEDGE

Which of the curves on the graph below best represents the vertical component v,
of the velocity versus the time t for a projectile fired at an angle above the
horizontal?

Sl Cagdaal t a3l (@ de ! danial vy L3geall 485801 b9 JWI JLd eyl (@ Clisaall (ST |
T Y Sgiunall B3 dugli

b

AB
€
DE i
I
d o

ocC
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A particle travels at 20.0 m/s north for 20.0 min and then it stops instantaneously
and reverses the direction and travels at 25.0 m/s for 15.0 min. What is the
particle’s total displacement?

Hyoitng ol uSasg Wlas) (a8 g1 @F 4ax85 20.0 5ue) Yot 20.0 m/s A ouenr Sy
S o) A1 A>15Y1 Le L4835 15.0 50 25.0 m/s Ac

) .a
1 & km 1.5
.b
m 150
.C
km 25
.d
m 2500

An object of unknown mass is initially at rest and dropped from a height h. It

reaches the ground with a velocity v,. The same object is then raised again to the s
same height h, but this time is thrown downward with velocity v, It now reaches }
the ground with a new velocity v,. How is v; related to v;? i

@313 V1 B9l dc s LY ) penad) Juas -h £LASH e OaSadl e ALSTI Jsgmms puns trdwo
Vi (59l e Jauwdl ad3dB @i 8yell 0l SJg h glasMI Lwas ) S>> Byo el Ll 23,
Tvi vy On A3l e v; Bunuar Ac o 2o ) U

i .a
| @ va=v2VYy :
b
Vy =Vq
.C
V2=2V1
4k
vy =4vg )
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An object is being pulled on a horizontal surface with a horizontal force of 135 N.
If it is moving with a uniform velocity and the kinetic coefficient of friction
between the sliding surfaces is 0.5, what is the normal force exerted by the
surface on the object?

Jolnog dalaitie dc o B s ‘g.‘.«.:_e_j'lg_jS'l.‘)! 135 N Salwd d.ad) 8445 &:9] Eh..,u e panm e
‘o_.u.z_:“ g5’«6 Gla_mli R a_a._a.b_n.]'l 4).)_9_@_:_“ -.‘.:‘9_9_]1 Ls <0.5 LSjL‘M-’ C}‘L.MM’I ,_}—\:LL::_‘.«” ‘5)::“ _j&.u:-}}':

] N 270 i)
b
N 350
-C
N 67.5
d
N 135

I

A ball is thrown off a 25 m-high cliff. Its initial velocity is 25 m/s, directed at an
angle of 53° above the horizontal. What is the maximum height the ball will reach
above the ground? (g = -9.8 m/s’)

as 53° A9l aiualy 25 m/s ABlpY! lgis w CI813) (25 m) delasyl By el e 8,S 548
(g8 =-9.8 m/s?) Tual o 8,01 Al Juas §la3)l oadl o . 38Y)

E .a
@ m 45
.b
m 20
.C
m 12 b
d
i
[Tr) 2377 ‘
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The free-body diagram below shows two forces acting on a mass. Which equation
of the following represents the vector sum of the forces in N, on the x-axis?

E

L§_9.a.“ dlamae dxdin (el AW CYolasll ‘_-5" Euzfl_g ubsj.:' pr'_gé buai):z.“ P‘“’"‘H alasas 292
S iges By X s9n I

i.a
(v} e = Aicas 22 bEieas 0= '

b
IF, =—-4 cos 60° + 6 cos 40° :
.C
2Fy =—4 cos 60° + 6 sin 40° "
I
d i
ZF, =4 sin 60° + 6 cos 40° :
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The diagram below shows the horizontal forces on a 20.0 kg mass. If the mass
starts from rest, how far has it travelled in the horizontal direction after 3.00 s?

co_gs.w.l'l oo Syl tQ.uA.?tJl T.b 13 .20.0 kg ﬂL?SM ‘3 8,3 §all a:ua.‘a‘}” Sodl oLal 5. 54 T2 92
93.005 da puuzl) galadpw () duadY) ddluall Lo

70.0 N 100.0 N

(] m 6.75
b

m 4.50
o of

m 9.00
.d

m 13.0

A particle moves from point P to point Q as shown in the graph below, what is the
displacement unit vector of this particle?

iyt A=13Y) u=>9 d=ixs o ct-;'L_qJ'r M_)Jb Z29R 9B LS «Q dlnazll AP &b.a.z.l'.,_-),o Wﬂﬁb_

";W\
z
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A box of mass 2 kg is accelerating on an inclined plane of inclination 30°. The
coefficient of kinetic friction between the surfaces of the box and the plane is 0.35.
What is the magnitude and direction of the net force acting on the box? (g = 9.8 m/s?)

Gh..ndl_, Batiuall Gla..u o &a." SI8EYI Jolas .30° :i:)_,b.’ Sl E‘b“' Ul.:- 7 3 kg di.lifé_g..\m &)L“.'\._n
(g =9.8 !TI/SZ) ':‘._53..:.1,,:.1\ .3 5_,5}0." ‘_5_3.5.“ dla=ao olxilg Hlude L .0.35 J.'!Ln.“

Downward
3aaa I ; ;

[ N downward 3.86
' JauSU N 3.86
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A projectile is launched with an unknown initial velocity at an angle of 30° from
the horizontal of level ground. Which of the following statements is true?

§ Ao AJEN Ll (ST .33Y1 ae 307 Ll Aggmms ASIAL A B9dhe lla

S .The horizontal component of velocity is greater than the vertical component of velocity
H Lo gan)l AS,adl oo AST Ac | dmial 080N A5, 0])

........................................................................................................................................

b
.The horizontal component of velocity is less than the vertical component of velocity }
Ao gesdl A.S)DJi L)A_M‘ A ) dscied auasyl 3.&5_,.@.“ s
.C
.Both the horizontal and vertical components of velocity are equal
O gludio de wll domiad &35 ganlly 4u85Y1 (niS ol WS
4

.The vertical component of velocity is used to calculate the range of the projectile
-A38Y) A= Lol (3 Ac i asis) Ddgeall LSl pusand

An object of mass 36 kg is being pulled on a friction less horizontal surface by }
means of two strings. One of the strings is pulling forward, has a tension of 300 N
and makes an angle of 40° with the positive x-axis. The other string is pulling
backwards horizontally and has a tension of 12 N. What is the acceleration of the
object? (g =-9.8 m/s?)

p-‘-:ﬁ“ ngh el o e dlawl g eSS EIAs k?Es?n Gb.ga <= 36 kg M’.l.‘isiq.m u.__....-.--_...é
L_;'li“ ,J..a.az.“ ) L:u.:u ""'"":"'.5‘“'” X )g>e0 2o 40° 3:13!) (':14‘.)5'_9 300 N W)luade J& 53_5_.: cflLoSU
(g =-9.8 m/s-"') ".-(a.u.qu Foled Lo .12 N W)ylide ud 598 alsl Las) ‘q“.:_g”

b
m/s 3.69

<k
m/s% 0.761 :

d o
m/s?7.12 15
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An object moves such that its position is given by the function x(t) = 3t — 4t + 1,
The unit of t is second, and the unit of x is meter. After 6 seconds, how fast and in
what direction is this object moving if it started at t=07?

Bl>-g9 Asl (2 cpa3ll B9 CIB 13 x(t) = 3t = 4t + 1 Aolanll dadge ddoly Cusey uuzr Sy
t=0 o 4.'25_;.7-“.! 13] 35)2.“ sl (30 6 5 ‘(u.uJ_tJ'l A€ 0lxdlg Hluda Lo ¢ Ao R a1y

]

m/s opposite to the direction of its initial velocity 32
a5l dic w olodl WS 32 m/fs

b
m/s opposite to the direction of its initial velocity 16
51| die w olxil WS 16 m/s
i {.c
(v m/s in the same direction of its initial velocity 32
; M/s 32351 dic w olos) (puhiy i
)

m/s in the same direction of its initial velocity 16
m/s 1645810l die w o] i

E mail: info@ampss.ae  www.shk.ampss.ae Tel: 025858621 / 025858760  <iba yaall 5 ela¥ 5 Sall 3 5231 ) Aparlas Fuwus e A yall Ay

&ﬂ&}&@\}&\)@\}UJM\M%&}J&Q\caﬁa.a.‘\‘_gas“)ﬁa.“MJC)Q\@BJ}Q\MJJLEAW}AHJ :a.u.iJAAS\;\.‘LuJ
L )




